
Parts Breakdown
Model MS-IN-0250H-BK 47113



Parts Breakdown
Model MS-IN-0250H-BK 47113



Parts Breakdown
Model MS-IN-0250H-BK 47113



Parts Breakdown
Model MS-IN-0250H-BK 47113

Item No. Description Position Item No. Description Position Item No. Description Position

AG599 Nut M6 UNI 5588 for 47113 55886 AG625 Shim Ring for 47113 988G1016005 AG651 Bush for 47113 K5B1410

AG600 M6 Washer for 47113 65926 AG626 PCB+Switch + Switch Cable Extension 
for 47113 ASM0009 AG652 Bush for 47113 K5B1420

AG601 Washer for 47113 65936 AG627 Blade Cover Assembly for 47113 ASMBC0002 AG653 Gauge Plate/Slider Screw for 47113 KSXSG1421

AG602 Washer EL.D6798 6 for 47113 67986 AG628 Handgrip Support Assembly for 47113 ASMHG0002 AG654 Special Washer HL for 47113 KX0SG1412

AG603 Self-Locking Nut M8 UNI7474 for 47113 74748 AG629 Homeline Pusher Assy for 47113 ASMHG0003 AG655 Wheel PC0001 for 47113 PC0001

AG604 Rubber Homeline Foot for 47113 117096 AG630 Complete Meat Table Assembly for 
47113 ASMMT0002 AG656 Cable Tie for Capacitor for 47113 PC0004

AG605 Grub Screw M8x10 UNI 5927 for 47113 5927810 AG631 Meat Table Tray Assembly for 47113 ASMMT0003 AG657 Blade Ring for 47113 PU0004

AG606 Screw U5931 M4x20 Inox for 47113 5931516 AG632 USA - Motor Assembly for 47113 ASMMTR0002 AG658 Handle Gear Shaft for 47113 SF0003

AG607 Screw 4762 M6x16 - 16N for 47113 5931616 AG633 Assembly PCB for 47113 ASMPCB0008 AG659 Cam Shaft for 47113 SF0014

AG608 Screw M3x25 Galv. UNI 6109 for 47113 6109325 AG634 Pulley Assembly for 47113 ASMPU0002 AG660 Screw Support for 47113 SF0018

AG609 O-Ring 9x27 for 47113 36012659 AG635 Slice Deflector HL for 47113 ASMSD0001 AG661 Threaded Screw Support for 47113 SF0019

AG610 O-Ring for 47113 36012676 AG636 Belt for 47113 BT0002 AG662 Stabilizer Bar for 47113 SF0021

AG611 O-Ring 11x2 for 47113 3601265118 AG637 Capacitor US for 47113 CA0003 AG663 Cam Pin for 47113 SF0024

AG612 Blade 250 for 47113 3250.00X AG638 Cam for 47113 CAM0001 AG664 Motor Spacer for 47113 SF0027

AG613 Nut UNI5588 M8 Inox for 47113 55888/A2 AG639 Power Cable US Type for 47113 CB0003 AG665 Round Bar for 47113 SF0033

AG614 Screw CEP/E UNI 5929 Inox M5x5 
for 47113 592955/A2 AG640 Universal Cable for 47113 CB0010 AG666 Special Screw for Slice Deflector 

for 47113 SF0036

AG615 Screw TCEI M3x10 Inox U5931 for 
47113 5931310/A2 AG641 B Cup SS HL for 47113 CP0001 AG667 Motor Spacer Long for 47113 SF0039

AG616 Screw TCCE UNI 5931 Inox M4x20 
for 47113 5931420/A2 AG642 B Cap for 47113 CP0002 AG668 Gauge-Plate Shaft for 47113 SF0044

AG617 Inox Screw M6x25 for 47113 5933625/A2 AG643 Cover for 47113 CP0003 AG669 Bushes Support for 47113 SP0002

AG618 Screw U5933 M6x30 for 47113 5933630/A2 AG644 Side Cover Front Red CV0001 HL 
for 47113 CV0001 AG670 Support for 47113 SP0004

AG619 Inox Screw for 47113 6107420/A2 AG645 Homeline Back Cover for 47113 CV0002 AG671 Cam Pin Support for 47113 SP0005

AG620 Screw ISO 2009 - M3x16 - 16N for 
47113 6109316/A2 AG646 Base Plate Homeline for 47113 ES0003 AG672 Spring 51mm for 47113 SPR002

AG621 Screw TPS/CACC. UNI 6109 Inox 
M4x10 for 47113 6109410/A2 AG647 Slide Extrusion for 47113 ES0005 AG673 Ass.Switch + Switch Cable Extension 

for 47113 SW0003

AG622 Screw TS UNI 6109 M5x12 Inox for 
47113 6109512/A2 AG648 Gauge Plate for 47113 GP0003 AG674 Meat Table Spacer for 47113 TB0001

AG623 Screw TBCE M4x8 Inox UNI7380 for 
47113 738048/A2 AG649 Handle Spur Gear for 47113 GR0001 AG675 Special Washer for 47113 WS0002

AG624 Ring UNI 7434-5 Inox for 47113 74345/A2 AG650 Handle 200 HD0001 HL for 47113 HD0001


